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Network
Workers

By: Jasmin Hawter




The Word Problem:

Rex would show up for 50 dollars and for
every hour it would cost 25 dollars. Then for Max,
he would show up for 9o dollars and for every hour
it would cost 20 dollars.

. 2. - My Two Equation:

s *_. {y =25%X + 50
e i {y = 20x + 90




Solving By Substitution:

Y = 25X + 50
—— 20X + 90 = 25X + 50
Yy =20X + 90 -20x -20x
00 = 5X + 50
y = 20(8) + 90 _ZO — 5X h

Yy =160 + 90



Solving By Elimination:

y=25X+5008) __ | y=200x+400 -500=25%+ 50
Yy = 20X + 90 (10) _ .50 .50
500 = 25 (-22) + 50 Y = 200X + 900 -500 = 25X

-500 = -550 + 50

-500 = -500 y = -500 -22 =X



Solving By Graphing: JORHAL FLORT AUTO REf

X N N
P N 1» d : £ 90
' 1 75 |110
0INTS score L s 119
3 125 150
= Worker 1 y 150 170
[ 17s 190
= Worker 2 6 200 510
7 22k 230
8 250 2Ea
9 275 27a
10 300 | 290
x=0
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Solution:

In conclusion, both of the workers would make
the same amount of money. At the end of the 8th
hour they would make $250.
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